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Name:________________________

Three Digit Subtraction With  Regrouping Ones 

CCSS  2.NBT.7  Add and subtract within 

1000……... 

1 

567 - 49 = ____ 

 

  567 

-  49 

 

 

843 - 751 = ____ 608 - 345 = ____ 

446 - 353 = ____ 

 

 

 

 

 

 

 

731 - 458 = ____ 

 

 

 

 

 

604 - 265 = ____ 

874 - 93 = ____ 

 

 

 

 

 

 

 

784 - 431 = ____ 648 - 383 = ____ 

Find the difference.  Rewrite the problem in vertical format.  Make sure you write the 

numbers in the correct place. 


